Efficiency vs Dxy(PV)

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_CKF_TTbase

I Efficienc] — DQM_CKF_TTtest125xNEW

o«

| [
H

=1 0.6-0.4-0.2 0 0.2 0.4 06 0.8 1
TP dxy(PV) (cm)
s Ly :
o L N
§ f : :
e | SRR .-l-----.------ ----- T
> B .
> :
Q F .
G 0.8 et e
2 [ .
= r N
15} o .
0.6f----deeeee Y EETEER] AEPEPR eeees
0.4 R | EERER EARPEPR Feeees
0.2f--e e RS |7 CFP RPN Feeees
I i i ; i i
o+ X
T
04
[ S LY R
0'—30 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 0.8 -
o N
Ko :
% N
> .
> :
o .
c .
° :
] i
© :
0.1 .- --+---: q H
F H{h : :
L | | |
o =0 4
©
x
| .
0T 05 0




	Contents
	Page 1


